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Test (CS): Factoring of Polynomials

Question 1a of 25 ( 2 Using Tiles to Factor Trinomials 90900 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(Xx+1)(x+5), (x+5)(x+1), (1x+1)(1x+5), (1x+5)(1x+1), (x+1)*(x+5),
(x+5)*(x+1), (1x+1)*(1x+5), (1x+5)*(1x+1), (x 1+1)(x~1+45),
(XM1+5)(xM1+1), (IxM+1)(1xNM145), (IxM+5)(1xM1+1), (XM 1L+H1)*(xN1+5),
(XAL+5)*(xM14+1), (IxA1+1)*¥(1xA1+5), (IxM1+5)*(1x~M1+1)

The picture below shows the factorization of x2 + 6x + 5. Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 1)(x + 5).

Question 1b of 25 ( 2 Using Tiles to Factor Trinomials 297789 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(x+1)(x+4), (x+4)(x+1), (I1x+1)(1x+4), (1x+4)(1x+1), (x+1)*(x+4),
(Xx+4)*(x+1), (Ix+1)*(1x+4), (1x+4)*(1x+1), (x 1+1)(x~1+4),

(XM +4)(xNM+1), (IxML+1D)(IxNM1+4), (IxMN1+H4)(IxAML+1), (kM1 +H1D)*(xN1+4),
(XN L4+4)*(xNM1+1), (IxNML+1D)*(IxN144), (IxNM1+4)*(1xN1+1)

The picture below shows the factorization of x2 + 5x + 4. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.



This version of Total HTML Converter is unregistered.

Attempt| Incorrect Feedback
1st
Correct Feedback
Global Incorrect Feedback
The correct answer is: (x + 1)(x + 4).

Question 1c¢ of 25 (2 using Tiles to Factor Trinomials 297790 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 3

Is Case Sensitive: false
(x+1)(x+3), (x+3)(x+1), (Ix+1)(1x+3), (Ix+3)(1x+1), (x+1)*(x+3),

. (X+3)*(x+1), (Ix+1)*(1x+3), (1x+3)*(1x+1), (X 1+1)(x 1+3),

Correct Answer: (XA 1+3)(xA1+1), (IXA1+1)(1xA1+3), (IxA1+3)(1xA1+1), (XA L+1)*(xA143),
(XA L3)*(xNM14+1), (IXAL+H1)*(IxAL+3), (IxNM143)*¥(1xN14+1)

Question: The picture below shows the factorization of x2 + 4x + 3. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 1)(x + 3).




This version of Total HTML Converter is unregistered.

Question 2a of 25 ( 2 Using Tiles to Factor Trinomials 90901 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(X+2)(x+5), (x+5)(x+2), (1x+2)(1x+5), (1x+5)(1x+2), (x+2)*(x+5),
(x+5)*(x+2), (1x+2)*(1x+5), (1x+5)*(1x+2), (x 14+2)(x 1+5),
(XNM14+5)(xM14+2), (IxM+2)(1xNM145), (IxM+5)(1xM14+2), (XML +H2)*¥(xN1+5),
(XN145)*(xN142), (IXANL+2)*¥(1xAM1+5), (XM L+H5)*(IxNM1+2)

The picture below shows the factorization of x2 + 7x + 10. Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x + 5).

Question 2b of 25 ( 2 Using Tiles to Factor Trinomials 297791 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(x+3)(x+5), (x+5)(x+3), (1x+3)(1x+5), (1x+5)(1x+3), (x+3)*(x+5),
(X+5)*(x+3), (1x+3)*(1x+5), (1x+5)*(1x+3), (x1+3)(x~1+5),
(XN14+5)(xM143), (IxM+3)(1xM145), (IxML+5)(1xM143), (XM 1+3)*¥(xN1+5),
(XN14+5)*(xM143), (IXAM1+3)*(1xAM1+5), (IXAM1+5)*(1x~M1+3)

The picture below shows the factorization of x2 + 8x + 15. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 3)(x + 5).

Question 2c of 25 ( 2 Using Tiles to Factor Trinomials 297792 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 3

Is Case Sensitive: false
(X+2)(x+4), (x+4)(x+2), (1x+2)(1x+4), (1x+4)(1x+2), (x+2)*(x+4),

Correct Answer: (X+4)*(x+2), (1x+2)*(1x+4), (1x+4)*(1x+2), (X 1+2)(x 1+4),

' (XM +4) (XM 42), (IxNML+2)(IxNM1+4), (XN +H4)(IxA1L+2), (XM +2)*(xN1+4),
(XNM14+4)*¥(xN142), (IXAMLH2)*¥(IxAM1+4), (IXNML+H4)*¥(AxNM1+2)

Question: The picture below shows the factorization of x2 + 6x + 8. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.
|

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x + 4).




This version of Total HTML Converter is unregistered.

Question 3a of 25 ( 2 Using Tiles to Factor Trinomials 485236 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(X+5)(x+4), (x+4)(x+5), (1x+5)(1x+4), (1x+4)(1x+5), (x+5)*(x+4),
(x+4)*(x+5), (1x+5)*(1x+4), (1x+4)*(1x+5), (x 1+5)(x 1+4),
(xNM14+4)(xM145), (IxM+5)(1xM14+4), (IxM1+4)(1xM145), (XN 1+5)*(x~M1+4),
(XN14+4)*¥(xN145), (IXMNL+5)*(1xN1+4), (IxNM1+4)*(1xN1+5)

The picture below shows the factorization of :* -4x -211. Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.

ok i o el

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 5)(x + 4).

Question 3b of 25 ( 2 Using Tiles to Factor Trinomials 485237 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(x+3)(x+4), (x+4)(x+3), (1x+3)(1x+4), (1x+4)(1x+3), (x+3)*(x+4),
(x+4)*(x+3), (1x+3)*(1x+4), (1x+4)*(1x+3), (x 1+3)(x 1+4),
(XM14+4)(xM14+3), (IxM+3)(1xNM14+4), (IxM+4)(1xM143), (XM L+H3)*¥(xN1+4),
(XN14+4)*¥(xN143), (IXAML+3)*¥(IxNM1+4), (IxNML+H4)*¥(IxNM1+3)

The picture below shows the factorization of . Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.
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Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 3)(x + 4).

Question 3c of 25 ( 2 Using Tiles to Factor Trinomials 485238 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(X+3)(x+2), (x+2)(x+3), (1x+3)(1x+2), (1x+2)(1x+3), (x+3)*(x+2),
(x+2)*(x+3), (1x+3)*(1x+2), (1x+2)*(1x+3), (x 14+3)(xN1+2),

(XA L+2)(xN143), (IXNM143)(IxAL+2), (IxAL+2)(IxN143), (XN 14+3) ¥ (xN1+2),
(XN14+2)*(xN143), (IXAMLH3)*¥(IxAML+2), (IXAML+H2)*¥(IxNM1+3)

The picture below shows the factorization of - -7+ -[i. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 3)(x + 2).
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Question 4a of 25 ( 2 Using Tiles to Factor Trinomials 90902 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(x+1)(x+6), (x+6)(x+1), (1x+1)(1x+6), (1x+6)(1x+1), (x+1)*(x+6),
(x+6)*(x+1), (1x+1)*(1x+6), (1x+6)*(1x+1), (x 1+1)(x 1+6),
(xNM14+6)(xM1+1), (IxM+1)(1xNM14+6), (IxML+6)(1xM1+1), (XM 1L+1)*¥(xN1+6),
(XN14+6)*(xN1+1), (IXML+1)*(1xN1+6), (IXNML+6)*(1xNM1+1)

The picture below shows the factorization of x2 + 7x + 6. Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 1)(x + 6).

Question 4b of 25 (2 using Tiles to Factor Trinomials 297793 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(X+1)(x+7), (x+7)(x+1), (Ix+1)(1x+7), (Ix+7)(1x+1), (x+1)*(x+7),
(X+7)*(x+1), (Ix+1)*(1x+7), (Ix+7)*(1x+1), (X N1+1)(x N1+7),

(XA 1+7)(xA1+1), (IxA1+1)(IxA1+7), (IxA1+7)(IxA1+1), (XA 14+1)*(xA147),
(XNM14+7)*(xN1+1), (IxNM14+1)*(IxA1+7), (IxNM14+7)*(IxAN1+1)

The picture below shows the factorization of x2 + 8x + 7. Enter the

factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 1)(x + 7).

Question 4c of 25 ( 2 Using Tiles to Factor Trinomials 297794 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 3

Is Case Sensitive: false
(x4+2)(x+6), (x+6)(x+2), (1x+2)(1x+6), (1x+6)(1x+2), (x+2)*(x+6),

. (X+6)*(x+2), (1x+2)*(1x+6), (1x+6)*(1x+2), (X 1+2)(x 1+6),

Correct Answer: (xA1+6)(x 1+2), (IxA1+2)(1x~1+6), (IxA1+6)(1xA1+2), (XA 1+2)*(xA1+6),
(XA L4+6)*¥ (XN 142), (IXAL4H2)*¥(1xAN1L+6), (IxXNM1+6)*(1xN142)

Question: The picture below shows the factorization of x2 + 8x + 12. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x + 6).
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Question 5a of 25 ( 2 Using Tiles to Factor Trinomials 90903 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x43)(x+2), (x+2)(2x+3), (2x+3)*(x+2), (x+2)*(2x+3), (2x+3)(1x+2),
(1x+2)(2x+3), (2x+3)*(1x+2), (1x+2)*(2x+3), (2x"M1+3)(xN1+2),

(XN 1+2)(2xN143), (2xM14+3)* (XN 142), (XN14+2)*¥(2xN1+3),
(2XN14+3)(1xN142), (IxN1+2)(2xM143), (2xN143)*(1xN1+2),
(1xN142)*(2x~N143)

The picture below shows the factorization of 2x2 + 7x + 6. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 3)(x + 2).

Question 5b of 25 ( 2 Using Tiles to Factor Trinomials 297795 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x43)(x4+3), (x+3)(2x+3), (2x+3)*(x+3), (x+3)*(2x+3), (2x+3)(1x+3),
(1x+3)(2x+3), (2x+3)*(1x+3), (1x+3)*(2x+3), (2xM1+3)(x1+3),
(X™M143)(2xM143), (2xM1+3)* (XM 143), (XM 1L4+3)*¥(2xM1+3),
(2XN14+3)(1xNM143), (IxN143)(2xM143), (2xN143)*(1xN1+3),
(IxN143)*(2x"N143)

The picture below shows the factorization of 2x2 + 9x + 9. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.
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Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 3)(x + 3).

Question 5c of 25 ( 2 Using Tiles to Factor Trinomials 297796 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x43)(x+1), (x+1)(2x+3), (2x+3)*(x+1), (x+1)*(2x+3), (2x+3)(1x+1),
(1x+1)(2x+3), (2x+3)*(1x+1), (1x+1)*(2x+3), (2x"M1+3)(xN1+1),
(XNM14+1)(2xM143), (2xM1+3)* (XM 1+1), (XM L+1)*¥(2xM1+3),
(2XN14+3)(1xNM141), (IxAL1+1)(2xM143), (2xN143)*(1xN~1+1),
(1xNM14+1)*(2x~N143)

The picture below shows the factorization of 2x2 + 5x + 3. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 3)(x + 1).
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Question 6a of 25 ( 3 Factoring a Trinomial's Leading Coefficient and Constant 90904 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x4+1)(x4+3), (x+3)(2x+1), (2x+1)*(x+3), (x+3)*(2x+1), (2x+1)(1x+3),
(1x+3)(2x+1), (2x+1)*(1x+3), (1x+3)*(2x+1), (2xM1+1)(xN1+3),

(XA L+3)(2xN141), (2xM1+H1)* (XN 143), (XN14+3)*¥(2xN1+1),
(2XM1+1)(1xN143), (IxN143)(2xM1+1), (2xN1+1)*(1xN1+3),
(1x~M143)*(2x~M1+41)

The picture below shows the factorization of 2x2 + 7x + 3. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 1)(x + 3).

Question 6b of 25 ( 3 Factoring a Trinomial's Leading Coefficient and Constant 297797 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x+1)(x+2), (x+2)(2x+1), (2x+1)*(x+2), (x+2)*(2x+1), (2x+1)(1x+2),
(Ix+2)(2x+1), (2x+1)*(1x+2), (Ix+2)*(2x+1), (2xM1+1)(xN1+2),
(XNM142)(2xM1+1), (XML +H1)*(xN142), (XM L+2)*¥(2x N1 +1),
(2xM14+1)(IxANL+2), (IxNM14+2)(2xA1+1), (2xM1+1)*(1xA1+2),
(1xN14+2)*(2x~N1+1)

The picture below shows the factorization of 2x2 + 5x + 2. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.
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Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 1)(x + 2).

Question 6¢c of 25 ( 3 Factoring a Trinomial's Leading Coefficient and Constant 297798 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x+1)(x+1), (x+1)(2x+1), (2x+1)*(x+1), (x+1)*(2x+1), (2x+1)(1x+1),
(Ix+1)(2x+1), (2x+1)*(1x+1), (Ix+1)*(2x+1), (2x M 1+1)(xN1+2),
(X™M142)(2xM1+1), (2xML+1)*(xM142), (XM L+2)*¥(2xM1+1),
(2xM14+1)(IxAL+2), (IxNM14+2)(2xA1+1), (2xM1+1)*(1xA1+2),
(IxN14+2)*(2x~N1+41)

The picture below shows the factorization of 2x2 + 3x + 1. Enter the
factorization in the box below. Write each factor as a polynomial in descending
order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x + 1)(x + 1).
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Question 7a of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 90905 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(x-1)(x-4), (x-4)(x-1), (1x-1)(1x-4), (1x-4)(1x-1), (x-1)*(x-4), (X-4)*(x-1), (1x-
1)*(1x-4), (1x-4)*(1x-1), (x~1-1)(x~1-4), (x 1-4)(x~1-1), (1x~M1-1)(1x~1-4),
(1xM1-4)(1xM1-1), (xM1-1)*(xM1-4), (xM1-4)*(x~M1-1), (IxAM1-1)*(1xM1-4),
(1xN1-4)*(1x~1-1)

Use the graph to find the factorization of x2 - 5x + 4 and enter it in the box
below. Write each factor as a polynomial in descending order.

| |
\ [ y=xZ -6+ 4
|

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 1)(x - 4).

Question 7b of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 297799 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(x-2)(x-4), (x-4)(x-2), (1x-2)(1x-4), (1x-4)(1x-2), (x-2)*(x-4), (X-4)*(x-2), (1x-
2)*(1x-4), (1x-4)*(1x-2), (x 1-2)(x"1-4), (x1-4)(x"1-2), (1xM1-2)(1x"1-4),
(1xM1-4)(1xN1-2), (XN 1-2)*(xM1-4), (XM 1-4)*(xN1-2), (1xNM1-2)*(1xN1-4),
(1x"N1-4)*(1x"1-2)

Use the graph to find the factorization of x2 - 6x + 8 and enter it in the box
below. Write each factor as a polynomial in descending order.

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 2)(x - 4).

Question 7c of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 297800 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(x-3)(x-4), (x-4)(x-3), (1x-3)(1x-4), (1x-4)(1x-3), (x-3)*(x-4), (x-4)*(x-3), (1x-
3)*¥(1x-4), (1x-4)*(1x-3), (x~1-3)(x"1-4), (x"1-4)(x"1-3), (1x~1-3)(1xN1-4),

(1xM1-4)(1xM1-3), (xM1-3)*(xNM1-4), (xNM1-4)*(xNM1-3), (1x~M1-3)*(1xM1-4),
(1x"N1-4)*(1x~1-3)

Use the graph to find the factorization of x2 - 7x + 12 and enter it in the box
below. Write each factor as a polynomial in descending order.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 3)(x - 4).
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Question 8a of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 485239 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
3

false

(X+7)(x+4), (x+4)(x+7), (1x+7)(1x+4), (1x+4)(1x+7), (x+7)*(x+4),
(x+4)*(x+7), (1x+7)*(1x+4), (1x+4)*(1x+7), (x 14+7)(x 1+4),

(XM L+4)(xMN1+7), (IXM14+7)(AxAL+4), (IxXAL+4)(IxNA147), (XNM1+7)*¥(xN1+4),
(XN L+4)X(xN1+7), (IXAL+7)*¥(1xA1+4), (IxNM1+4)*(1xN1+7)

Use the graph to find the factorization of :“ -11x -.d and enter it in the box
below. Write each factor as a polynomial in descending order.
A

\ fia V= %24 113+ 28

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 4)(x + 7).

Question 8b of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 485240 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
3

false

(x-5)(x-8), (x-8)(x-5), (1x-5)(1x-8), (1x-8)(1x-5), (x-5)*(x-8), (x-8)*(x-5), (1x-
5)*(1x-8), (1x-8)*(1x-5), (x~1-5)(x"1-8), (x~1-8)(x~1-5), (1x~1-5)(1x~1-8),
(1x~1-8)(1x"N1-5), (xNM1-5)*(x~1-8), (x~M1-8)*(xN1-5), (1x~1-5)*(1x"~1-8),
(1x~1-8)*(1x~1-5)

Use the graph to find the factorization of and enter it in the box
below. Write each factor as a polynomial in descending order.
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Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 5)(x - 8).

Question 8c of 25 ( 2 Factoring a Trinomial's Leading Coefficient and Constant 485241 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 3

Is Case Sensitive: false

(x-9)(x-12), (x-12)(x-9), (1x-9)(1x-12), (1x-12)(1x-9), (x-9)*(x-12), (x-12)*(x-
9), (1x-9)*(1x-12), (1x-12)*(1x-9), (xA1-9)(x~1-12), (x~1-12)(x~1-9), (1x~1-
9)(1x~1-12), (1x~A1-12)(1xA1-9), (xA1-9)*(x~1-12), (xA1-12)*(x~1-9),
(1xA1-9)*(1xA1-12), (1x~A1-12)*(1x~1-9)

Correct Answer:

Question: Use the graph to find the factorization of .~ - *1: = 10} and enter it in the box
below. Write each factor as a polynomial in descending order.
_ & :
| |
1 ||I II
1 |
| {
|II |'
§ {
| |II III
I". .-" x
-4 f -

Vv=x2 .2 x+ 108

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 9)(x - 12).
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Question 9a of 25 ( 2 Using Zero Product Rule to Determine Factorization 90906 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(x-1)(x-3), (x-3)(x-1), (1x-1)(1x-3), (1x-3)(1x-1), (x-1)*(x-3), (X-3)*(x-1), (1x-
1)*(1x-3), (1x-3)*(1x-1), (x~1-1)(x~1-3), (xM1-3)(x~M1-1), (1x~M1-1)(1x~M1-3),
(1x~M1-3)(1xM1-1), (XM L-1)*(xNM1-3), (xM1-3)*(xM1-1), (IxM1-1)*%(1xAM1-3),
(Ix~M1-3)*(1x~1-1)

Use the graph to find the factorization of x2 - 4x + 3 and enter it in the box
below. Write each factor as a polynomial in descending order.

1 I
1 I'I y=x2 - dx+ 3
|

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 1)(x - 3).

Question 9b of 25 ( 2 Using Zero Product Rule to Determine Factorization 297801 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
3

false

(x-2)(x-3), (x-3)(x-2), (1x-2)(1x-3), (1x-3)(1x-2), (x-2)*(x-3), (X-3)*(x-2), (1x-
2)*(1x-3), (1x-3)*(1x-2), (x1-2)(x"1-3), (x1-3)(xM1-2), (1x"M1-2)(1x”M1-3),
(1x~N1-3)(1xN1-2), (XN 1-2)*(xN1-3), (XN 1-3)*(xN1-2), (1xAM1-2)*(1x"M1-3),
(1x"N1-3)*(1x~N1-2)

Use the graph to find the factorization of x2 - 5x + 6 and enter it in the box
below. Write each factor as a polynomial in descending order.

Attempt| Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 2)(x - 3).

Question 9c of 25 ( 2 Using Zero Product Rule to Determine Factorization 297802 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 3

Is Case Sensitive: false

(x-1)(x-5), (x-5)(x-1), (1x-1)(1x-5), (1x-5)(1x-1), (x-1)*(x-5), (x-5)*(x-1), (1x-
_ 1)*%(1x-5), (1x-5)*%(1x-1), (XA 1-1)(x 1-5), (xA1-5)(xA1-1), (1xA1-1)(1x~1-5),
Correct Answer: (1XA1-5)(1xA1-1), (XAL-1)*(XA1-5), (XA1-5)*(xA1-1), (1XA1-1)*(1xA1-5),
(1x~1-5)%(1x~1-1)

Use the graph to find the factorization of x2 - 6x + 5 and enter it in the box
below. Write each factor as a polynomial in descending order.

Question:

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 1)(x - 5).




This version of Total HTML Converter is unregistered.

Question 10a of 25 ( 2 Using Zero Product Rule to Determine Factorization 90907 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(X-1)(x+6), (x+6)(x-1), (1x-1)(1x+6), (1x+6)(1x-1), (x-1)*(x+6), (x+6)*(x-1),
(Ix-1)*(1x+6), (1x+6)*(1x-1), (X M1-1)(x 1+6), (x 1+6)(xN1-1), (1xN1-
1)(1xM1+46), (IxM+6)(1xNM1-1), (XM 1-1)*(xAM14+6), (XM 1+6)*(x~M1-1), (1x/M1-
D)*(1xN1+6), (IxM1+6)*(1x~M1-1)

Use the graph to find the factorization of x2 + 5x - 6 and enter it in the box
below. Write each factor as a polynomial in descending order.

I I
|
| | y=xZ+6x-B

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 1)(x + 6).

Question 10b of 25 ( 2 Using Zero Product Rule to Determine Factorization 297803 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(x-1)(x+7), (x+7)(x-1), (1x-1)(1x+7), (1x+7)(1x-1), (x-1)*(x+7), (x+7)*(x-1),
(1x-1)*(1x+7), (Ix+7)*(1x-1), (x M1-1)(x 1+7), (x 1+7)(x"1-1), (1x™M1-
D(1xN1+47), (IxM1+7)(1xM1-1), (XM L-1)*(xN1+7), (xM1+7)*¥(xM1-1), (1xNM -
1)*(1xNM1+7), (IxM1+7)*(1x~M1-1)

Use the graph to find the factorization of x2 + 6x - 7 and enter it in the box
below. Write each factor as a polynomial in descending order.

Attempt| Incorrect Feedback

1st




This version

of Total HTML Converter is unregistered.

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 1)(x + 7).

Question 10c of 25 ( 2 Using Zero Product Rule to Determine Factorization 297804 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 3

Is Case Sensitive: false

(x-2)(x+6), (x+6)(x-2), (1x-2)(1x+6), (1x+6)(1x-2), (x-2)*(x+6), (x+6)*(x-2),
(1x-2)*(1x+6), (1x+6)*(1x-2), (X M1-2)(x 1+6), (X 1+6)(xN1-2), (1x~1-

Correct Answer: 2)(IxA1+6), (IXA1+6)(1xA1-2), (XA 1-2)*(xA1+6), (XA 1+6)*(x~1-2), (1xA1-
2)*¥(1xN146), (1xN1+6)*(1xN1-2)
Question: Use the graph to find the factorization of x2 + 4x - 12 and enter it in the box
below. Write each factor as a polynomial in descending order.
1 1 |
'. | y=xe 12
| | kS
> i | -
l ||
| |
\ |
III ||
1 II
|IIII II|I|
"., ¥
./
L J

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x - 2)(x + 6).
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Maximum Attempts:

Question 113 of 25 ( 2 Using Zero Product Rule to Determine Factorization 90908 )

Question Type:

Maximum Score:

Is Case Sensitive:

Correct Answer:

1

Text Fill In Blank
3

false

(x+2)(x-4), (x-4)(x+2), (1x+2)(1x-4), (1x-4)(1x+2), (Xx+2)*(x-4), (x-4)*(x+2),
(1x+2)*(1x-4), (1x-4)*(1x+2), (X 1+2)(xM1-4), (x 1-4)(xN1+2),

(1xA142)(1xA1-4), (1xA1-4)(1xA142), (XA 1+2)*(xA1-4), (xA1-4)*(xA1+2),
(IXA142)*(1xA1-4), (1XA1-4)%(1xA1+2)

Use the graph to find the factorization of x2 - 2x - 8 and enter it in the box
below. Write each factor as a polynomial in descending order.

|'
\ | y=x?-2x-8
|

Question:
| F 3
1
II II
| |
IIII ll'
L1 i
|II III|
/
L
Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x - 4).

Question 11b of 25 ( 2 Using Zero Product Rule to Determine Factorization 297805 )
Maximum Attempts: 1

Question Type:

Maximum Score: 3

Is Case Sensitive:
Correct Answer:

Question:

Text Fill In Blank

false

(x+2)(x-3), (x-3)(x+2), (1x+2)(1x-3), (1x-3)(1x+2), (x+2)*(x-3), (x-3)*(x+2),
(Ix+2)*(1x-3), (1x-3)*(1x+2), (X 1+2)(xN1-3), (x™M1-3)(xN1+2),
(IxN1+2)(1xM1-3), (IxM1-3)(1xN142), (XA L+2)*¥(xN1-3), (XM 1-3)*(xNM142),
(IXNML+2)*¥(1xNM1-3), (1xM1-3)*(1x~N14+2)

Use the graph to find the factorization of x2 - x - 6 and enter it in the box

below. Write each factor as a polynomial in descending order.

Attempt

Incorrect Feedback

1st
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Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x - 3).

Question 11c of 25 ( 2 Using Zero Product Rule to Determine Factorization 297806 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(x+2)(x-5), (x-5)(x+2), (1x+2)(1x-5), (1x-5)(1x+2), (x+2)*(x-5), (x-5)*(x+2),
(1x+2)*(1x-5), (1x-5)*(1x+2), (x 1+2)(x~N1-5), (x™1-5)(xN1+2),
(1xMN14+2)(1xM1-5), (1xAM1-5)(1xNM1+2), (xM14+2)*(xNM1-5), (xNM1-5)*(x~M1+2),
(1xN142)*(1x"N1-5), (Ix~M1-5)*(1x"N142)

Use the graph to find the factorization of x2 - 3x - 10 and enter it in the box
below. Write each factor as a polynomial in descending order.

|
. | =% 3x-10
I I

- i II'

o

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (x + 2)(x - 5).

Question 12a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90909 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3(x+2), (x+2)3, 3(1x+2), (1x+2)3, 3*(x+2), (x+2)*3, 3*(1x+2), (1x+2)*3,
(3)(x+2), (x+2)(3), (3)(1x+2), (1x+2)(3), (3)*(x+2), (x+2)*(3), (3)*(1x+2),
(1x+2)*(3), 3(xN1+2), (x™14+2)3, 3(1xM1+2), (1xN142)3, 3*¥(xN1+2),
(XN1+2)*3, 3*(1xN142), (IxN1+2)*3, (3)(xN1+2), (x™M1+42)(3), (3)(1x~1+2),
(IxM1+2)(3), (B)*(XNM1+2), (XN 1+2)*(3), (3)*(1xN1+2), (IxN1+2)*(3)
Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x+6

Attempt| Incorrect Feedback

1st

Correct Feedback
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of Total HTML Converter is unregistered.

Global Incorrect Feedback

The correct answer is: 3(x + 2).

Question 12b of 25 ( 3 finding a Common Factor in Each Term of a Trinomial 297807 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3(x+3), (x+3)3, 3(1x+3), (1x+3)3, 3*(x+3), (x+3)*3, 3*(1x+3), (1x+3)*3,
(3)(x+3), (x+3)(3), (3)(1x+3), (1x+3)(3), (3)*(x+3), (Xx+3)*(3), (3)*(1x+3),
(1x+3)*(3), 3(xM1+3), (xM1+3)3, 3(1x~M1+3), (1x~M1+3)3, 3*(x N 1+3),
(xN143)*3, 3*¥(1x~M143), (1xM143)*3, (3)(xN1+3), (xM1+3)(3), (3)(1x~1+3),
(IxN143)(3), (3)*(xM1+3), (xM1+3)*(3), (3)*(1x~1+3), (1xM1+3)*(3)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x+9

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3(x + 3).

Question 12c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297808 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3(x+4), (x+4)3, 3(1x+4), (1x+4)3, 3*(x+4), (x+4)*3, 3*(1x+4), (1x+4)*3,
(3)(x+4), (x+4)(3), (3)(1x+4), (1x+4)(3), (3)*(x+4), (x+4)*(3), (3)*(1x+4),
(1x+4)*(3), 3(xM1+4), (x~1+4)3, 3(1x~M1+4), (1xM1+44)3, 3*¥(xN1+4),
(xN14+4)*3, 3*(1xN1+4), (1xNM1+4)*3, (3)(xN1+4), (xN1+4)(3), (3)(1x~1+4),
(1xM14+4)(3), (3)*(xN1+4), (x™M1+4)*(3), (3)*(1xNM1+4), (1xN1+4)*(3)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x + 12

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3(x + 4).
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Question 13a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485242 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2X"N242)(X+5), (X+5)(2x"2+2), (X+5)*(2x"N2+2), (2x"N2+2)*(x+5),
(XN145)(2x7242), (2x7N242)(xN145), (XN 14+5)*(2xN2+2), (2xN2+2)*(x~N1+5),
(Ix+5)(2x"N242), (2xN242)(1x+5), (Ix+5)*(2xN242), (2x"M24+2)*(1x+5),
(IXAN1+5)(2x7242), (2x7N2+42)(1xN1+5), (IxN145)*(2xN2+2),
(2xN24+2)*(1x~N1+5)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

; :
s

N

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

T e
The correct answer is: |<+7 - 3) L=+,

Question 13b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485243 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(2X1N243)(X+7), (X+7)(2x"2+43), (X+7)*(2x"2+43), (2x1"2+3)*(x+7),
(XN14+7)(2xN2+3), (XN 243) (XN 1+7), (XN L+7)*¥(2xN243), (2XN243)*(xN1+7),
(Ix+7)(2xN2+43), (2x"243)(1x+7), (Ix+7)*(2x"24+3), (2xM2+3)*(1x+7),
(IXAN1+7)(2xN243), (2xN243)(1xN1+7), (IxXN147)*¥(2xN2+3),
(2xN2+3)*¥(1xN1+7)

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 13c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485244 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2xN24+1)(x+4), (X+4)(2x"N2+1), (Xx+4)*(2xN2+1), (2x1N2+1)*(x+4),
(XN14+4)(2xN2+1), (2xM24+1) (XM 1+4), (XM L+4)*¥(2xN2+1), (2x7N2+1)*(xN1+4),
(Ix+4)(2xN2+41), (2xM24+1)(1x+4), (1x+4)*(2xN2+1), (2xM2+1)*(1x+4),
(IXN1+4)(2xM24+1), (2xN2+1)(1xNM1+4), (IxN1+4)*(2xN2+1),
(2xN2+1)*(1x~N1+4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

]

[

vz d

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: [:"f*fI =1+ 1 .

Question 143 of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90910 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

4(x+4), (x+4)4, 4(1x+4), (1x+4)4, 4*(x+4), (x+4)*4, 4*(1x+4), (1x+4)*4,
(4)(x+4), (x+4)(4), (4)(1x+4), (1x+4)(4), (4)*(x+4), (x+4)*(4), (4)*(1x+4),
(1x+4)*(4), 4(xN1+4), (X 1+4)4, 4(1xN1+4), (1xN1+4)4, 4*¥(xN1+4),

(XN 1+4)*4, 4% (1xN14+4), (IxN1+4)*4, (4)(xN1+44), (xN144)(4), (4)(1xN1+44),
(1xN14+4)(4), (A)*(xN14+4), (xN1+4)*(4), (4)*¥(1xN1+4), (1xN1+4)*(4)
Factor the polynomial expression. Write each factor as a polynomial in
descending order.

4x + 16

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4(x + 4).
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Question 14b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297809 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

4(x+3), (x+3)4, 4(1x+3), (1x+3)4, 4*(x+3), (x+3)*4, 4*%(1x+3), (1x+3)*4,
(4)(x+3), (x+3)(4), (4)(1x+3), (1x+3)(4), (4)*(x+3), (x+3)*(4), (4)*(1x+3),
(1x+3)*(4), 4(xM143), (xM1+3)4, 4(1xM1+3), (1xM143)4, 4% (xN1+3),
(XN143)*4, 4*%(1xN1+3), (IxNM1+3)*4, (4)(xN14+3), (XM 1+3)(4), (4)(1xNM1+3),
(1x~M1+3)(4), (A)*(xN14+3), (x™M1+3)*(4), (4)*(1x~M1+3), (1xN14+3)*(4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

4x + 12

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4(x + 3).

Question 14c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297810 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

4(x+5), (x+5)4, 4(1x+5), (1x+5)4, 4*(x+5), (x+5)*4, 4*(1x+5), (1x+5)*4,
(4)(x+5), (x+5)(4), (4)(1x+5), (1x+5)(4), (4)*(x+5), (x+5)*(4), (4)*(1x+5),
(1x+5)*(4), 4(x~1+45), (x~145)4, 4(1x~1+5), (1x~1+5)4, 4*(x~1+5),
(XN14+5)*4, 4%(1x~145), (1x~N1+5)*4, (4)(x~N1+45), (x~145)(4), (4)(1xN1+45),
(1x~145)(4), (A)*(x~145), (x~145)*(4), (4)*(1x~145), (1x~14+5)*(4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

4x + 20

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 4(x + 5).
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Question 15a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485245 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(3xN24+1)(x+5), (x+5)(3xN2+1), (x+5)*(3x"N2+1), (3xN2+1)*(x+5),
(X™M145)(3xN241), (BxN2+1)(xM1+45), (xM14+5)*(3xN2+1), (BxN2+1)*(x~1+5),
(Ix+5)(3xN2+41), (BxN24+1)(1x+5), (Ix+5)*(3xN2+1), (3xN2+1)*(1x+5),
(IxAN1+5)(3xN241), (3xN2+1)(1xN1+5), (IxN145)*(3xN2+1),
(3xN2+1)*(1x~N1+5)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

¥

R R

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: [37-*31 -1 [ o

[al}

Question 15b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485246 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(3xN242)(x+3), (X+3)(3xN2+2), (X+3)*(3xN2+2), (3xN2+2)*(x+3),
(XN14+3)(3xN2+2), (BxN242) (XN 1+3), (XM L+3)*¥(BxN2+2), (BxN24+2)*(xN1+3),
(Ix+3)(3xN2+42), (BxN24+2)(1x+3), (1x+3)*(3xN2+2), (3xN2+2)*(1x+3),
(IXN1+3)(3xN242), (BxN242)(1xNM143), (IxN143)*(3xN2+2),
(3xN2+2)*¥(1x"N1+43)

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 15c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485247 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(3XN247)(x+6), (X+6)(3xN2+7), (X+6)*(3xN2+7), (3xN2+7)*(x+6),
(X™N146)(3xN247), (BxN2+7)(xN146), (XN14+6)*(3xN2+7), (BXN2+7)*(x~1+6),
(1x+6)(3xN2+47), (BXN24+7)(1x+6), (1x+6)*(3xN2+7), (3xN2+7)*(1x+6),
(IXN1+6)(3xN247), (3xN2+7)(1xN1+6), (IxN146)*(3xN2+7),
(3xN2+7)*(1x~N1+6)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

G g ' 1
o i G 4.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: [3'-“3I - -TJ [ *5:| .

Question 16a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90911 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2x(x+4), (2x-0)(x+4), (x+4)(2x-0), (2x-0)*(x+4), (x+4)*(2x-0), 2x(x+4),
(x+4)2x, 2x*(x+4), (x+4)*2x, (2xX)(x+4), (x+4)(2x), (2x)*(x+4), (x+4)*(2x),
(2x"~1-0)(xN1+4), (xN144)(2x~1-0), (2xAM1-0)*(xM1+4), (xNM1+4)*(2x~1-0),
2XAN1(XN144), (XN1+4)2xM 1, 2xA1X (XN 1+4), (XA 1+4)*2xM 1, (2xAM1)(xN1+4),
(XN 1+4)(2xM 1), (XM 1)* (XN L+4), (XN 1+4)*(2xM 1), (2x-0)(1x+4), (1x+4)(2x-
0), (2x-0)*(1x+4), (1x+4)*(2x-0), 2x(1x+4), (1x+4)2x, 2x*(1x+4), (1x+4)*2x,
(2x)(1x+4), (1x+4)(2x), (2x)*(1x+4), (1x+4)*(2x), (2x~1-0)(1x"N1+4),
(1xN144)(2xN1-0), (2xM1-0)*(1x~M1+4), (IxNM14+4)*(2xM1-0), 2xN1(1xN1+4),
(Ix"N144)2xN 1, 2xAN1*¥(1xM14+4), (IxNM14+4)*2x/M 1, (2xM1)(1xN1+4),
(IxN1+44)(2xA 1), (2xM1)*(1x~M1+4), (Ix~M1+4)*(2x1 1)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 8x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x(x + 4).




This version of Total HTML Converter is unregistered.

Question 16b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297811 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2x(x+3), (2x-0)(x+3), (x+3)(2x-0), (2x-0)*(x+3), (x+3)*(2x-0), 2x(x+3),
(x+3)2x, 2x*(x+3), (x+3)*2x, (2x)(x+3), (x+3)(2x), (2x)*(x+3), (x+3)*(2x),
(2xN1-0)(xN1+3), (xN143)(2x71-0), (2xNM1-0)*(xN1+3), (xN14+3)*(2x”1-0),
2XN1(XN14+3), (XANL+3)2xAM 1, 2xA X (XML +3), (XA 1+3)*2xA 1, (2x7M1)(xN1+3),
(XM +3)(2xMN 1), (2xM D)X (xNM1+3), (XM L+3)*(2xM 1), (2x-0)(1x+3), (1x+3)(2x-
0), (2x-0)*(1x+3), (1x+3)*(2x-0), 2x(1x+3), (1x+3)2x, 2x*(1x+3), (1x+3)*2x,
(2x)(1x+3), (1x+3)(2x), (2x)*(1x+3), (1x+3)*(2x), (2x~1-0)(1x~1+3),
(1xM143)(2x7M1-0), (2xM1-0)*(1x~M1+3), (1xM14+3)*%(2x~1-0), 2xM1(1xNM1+3),
(1xN143)2xM 1, 2xAM1*¥(IxAM143), (IxAM14+3)*2xAM 1, (2xM ) (1x~M1+3),
(IxNM1+3)(2xM 1), (2xAM1D)*¥(IxAM143), (IxML+3)*(2xMN )

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 6x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x(x + 3).

Question 16¢ of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297812 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2x(x+5), (2x-0)(x+5), (x+5)(2x-0), (2x-0)*(x+5), (x+5)*(2x-0), 2x(x+5),
(x+5)2x, 2x*(x+5), (x+5)*2x, (2x)(x+5), (x+5)(2x), (2x)*(x+5), (x+5)*(2x),
(2x"N1-0)(xN1+5), (xM145)(2x71-0), (2xAM1-0)*(x~1+5), (x~M14+5)*(2x~1-0),
2XAN1(XN1+5), (XAM1+5)2xA 1, 2xA 11X (XM 1+5), (xA1+5)*2x~ 1, (2xAM1)(x~M1+5),
(X~145)(2x™ 1), (2xAML)*¥(xAN1+5), (xNM14+5)*(2x~ 1), (2x-0)(1x+5), (1x+5)(2x-
0), (2x-0)*(1x+5), (1x+5)*(2x-0), 2x(1x+5), (1x+5)2x, 2x*(1x+5), (1x+5)*2x,
(2x)(1x+5), (1x+5)(2x), (2x)*(1x+5), (1x+5)*(2x), (2x~1-0)(1x~1+5),
(1x~N145)(2x71-0), (2xM1-0)*(1x~1+5), (Ix~M14+5)*(2x~1-0), 2xN1(1x~N1+5),
(1x~N145)2xM 1, 2xAM1*¥(1xM145), (IxM145)*2x/ 1, (2x~M1)(1x~1+5),
(1xM1+5)(2xM 1), (2xM1D)*(1x~M1L+5), (IxM1+5)*(2xM 1)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 10x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2x(x + 5).




This version of Total HTML Converter is unregistered.

Question 17a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485248 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x7"2+1)(3x+4), (Bx+4)(2x"2+1), (3x+4)*(2xN2+1), (2x1M2+1)*(3x+4),
(BxNM144)(2xN2+1), (2xM2+41)(3xN1+4), (BXxN1+4)*(2xN24+1),
(2XN2+1)*(3xN144), (3x+4)(2xN2+41), (2xN2+1)(3x+4), (Bx+4)*¥(2xN2+1),
(2xN2+1)*(3x+4), (3xN1+4)(2xN24+1), (2x7N2+1)(3xN1+4),
(BxN1+4)*¥(2xN2+1), (2x~M2+1)*(3xN1+4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

g

Haor s

[

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: |-

T L _1ll’j:{,_ ot

T St

Question 17b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485249 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(5x"24+4)(2x+1), (2x+1)(5x"2+4), (2x+1)*(5x"M2+4), (5xN2+4)*(2x+1),
(2xNM1+1)(5x1N244), (5x7MN2+4)(2xN1+1), (2xM1+1)*(5x1N2+4),
(5xN24+4)*(2xN1+1), (2x+1)(5x”M2+44), (5x7M2+4)(2x+1), (2x+1)*(5xN2+4),

(5xA2+4)*(2x+1), (2x~1+1)(5x~2+4), (5x~2+4)(2x~1+1),
(2x~A1+1)*(5xA2+4), (5xA2+4)*(2xA1+1)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 17c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485250 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 3

Is Case Sensitive: false

(4xN2+3)(7x+8), (7x+8)(4x"2+3), (7x+8)*(4x"243), (4xN2+3)*(7x+8),
(7x"N1+8)(4xN2+43), (4xN2+43)(7xN1+8), (7xN1+48)*(4xN2+3),

Correct Answer: (XN 243)*(7x"N148), (7x+8)(4xN2+3), (4x1N24+3)(7x+8), (7x+8)*(4x"2+3),
(4xN2+3)*(7x+8), (7xN1+8)(4xN243), (4xN2+3)(7xN148),
(7xXN14+8)*(4xN2+3), (4xN243)*(7xN1+8)

Question: Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

, £ e =T L
The correct answer is: | 1= oLt

Question 18a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90912 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 3

Is Case Sensitive: false

3x(x+4), (3x-0)(x+4), (x+4)(3x-0), (3x-0)*(x+4), (x+4)*(3x-0), 3x(x+4),
(x+4)3x%, 3x*(x+4), (x+4)*3x%, (3x)(x+4), (x+4)(3x), (3x)*(x+4), (x+4)*(3x),
(3xM1-0)(x~M1+4), (xN144)(3x~1-0), (3xAM1-0)*(x~M1+4), (xNM1+4)*(3x~1-0),
3XAN1(xN1+44), (XM1+4)3xM 1, 3XAL* (XN 1+4), (XxAN1+4)*¥3xM 1, (3xAL)(xN1+4),
. (XN 14+4)(3xN 1), (BXNM1)* (XN L+4), (XN 1+4)*(3xM 1), (3x-0)(1x+4), (1x+4)(3x-

Correct Answer: 0), (3x-0)*(1x+4), (1x+4)*(3x-0), 3x(1x+4), (1x+4)3x, 3x*(1x+4), (1x+4)*3x,
(3x)(1x+4), (1x+4)(3x), (3x)*(1x+4), (1x+4)*(3x), (3x~1-0)(1x"1+4),
(1x~N144)(3xM1-0), (BxN1-0)*(1x~M1+4), (1xNM14+4)*(3xM1-0), 3xN1(1xN1+4),
(1xN144)3xM 1, 3xAN1*¥(1xM14+4), (IxM14+4)*3x/M 1, (3xML)(1x~1+4),
(Ix~1+44)(3x™ 1), (3xM1)*(1xN1+4), (1x~M1+4)*(3x1 1)

Question: Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x2 + 12x

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3x(x + 4).




This version of Total HTML Converter is unregistered.

Question 18b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297813 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3x(x+5), (3x-0)(x+5), (x+5)(3x-0), (3x-0)*(x+5), (x+5)*(3x-0), 3x(x+5),
(x+5)3x, 3x*(x+5), (x+5)*3x%, (3x)(x+5), (x+5)(3x), (3x)*(x+5), (x+5)*(3x),
(3x~M1-0)(xM145), (xM1+5)(3xM1-0), (3xNM1-0)*(xNM1+5), (xM1+45)*(3x~M1-0),
3XN1(xN1+5), (XNM1+5)3xM 1, 3XAL*(xAML+5), (XxAM1+5)*3xM 1, (3x/M1)(xNM1+5),
(X™M1+5)(3xM 1), (BxMD)*(xM1+5), (x™M1L+5)*(3xM 1), (3x-0)(1x+5), (1x+5)(3x-
0), (3x-0)*(1x+5), (1x+5)*(3x-0), 3x(1x+5), (1x+5)3x, 3x*(1x+5), (1x+5)*3x,
(3x)(1x+5), (1x+5)(3x), (3x)*(1x+5), (1x+5)*(3x), (3x~1-0)(1x~1+5),
(Ix~N1+5)(3xM1-0), (3xAN1-0)*(1x~M1+5), (IxM1+5)*(3xM1-0), 3xML(1xN1+5),
(1x~N145)3xM 1, 3xAML*¥(1xM145), (IxM14+5)*3x/M 1, (3xM1)(1x~1+5),
(IxNM1+5)(3xM 1), (BxM1)*¥(IxAM1+5), (IxM1+5)*(3xM 1)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x2 + 15x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3x(x + 5).

Question 18c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297814 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3x(x+2), (3x-0)(x+2), (x+2)(3x-0), (3x-0)*(x+2), (x+2)*(3x-0), 3x(x+2),
(x+2)3x%, 3x*¥(x+2), (x+2)*3x%, (3x)(x+2), (x+2)(3x), (3x)*(x+2), (x+2)*(3x),
(3xN1-0)(xM1+2), (xM142)(3xM1-0), (3xML-0)*(xN1+2), (xN14+2)*(3x71-0),
XML (XN142), (XM 1+2)3xM ], 3XAL* (XN 142), (XA 1+2)*¥3xM ], (3xAML)(xNM142),
(XN 14+2)(3xN ), (BXNML)* (XN L+2), (XN L+2)*(3xM 1), (3x-0)(1x+2), (1x+2)(3x-
0), (3x-0)*(1x+2), (1x+2)*(3x-0), 3x(1x+2), (1x+2)3x, 3x*(1x+2), (1x+2)*3x,
(3x)(1x+2), (1x+2)(3x), (3x)*(1x+2), (1x+2)*(3x), (3x~1-0)(1x"1+2),
(IxN142)(3xM1-0), (BxNM1-0)*(1x~M1+2), (1xM14+2)*(3xM1-0), 3xN1(1xN1+2),
(IxN1+2)3xM 1, 3xAI*(IxN1+2), (IxML+2)*3x~ 1, (3xAM1)(IxAN1L+2),
(1xM14+2)(3xNM1), (BxM)*(1xML+2), (IxNM1+2)*(3xM)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

3x2 + 6x

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 3x(x + 2).




This version of Total HTML Converter is unregistered.

Question 19a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485251 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3x(7x+2), (3x)(7x+2), (7x+2)(3x), (7x+2)3X, 3x*(7x+2), (3x)*(7x+2),
(7x+2)*(3x), (7x+2)*3%, 3IxN1(7xN14+2), (3XML)(7xNM14+2), (7xM1+2)(3xM 1),
(7XNM1+2)3xM ], 3XALX(7xM14+2), (BXAD)X(7xMN1+2), (7xM1+2)*(3xM 1),
(7x"N142)*3x"1

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

- 2 -
P Ea

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -1+ [7x -],

)

Question 19b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485252 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

4x(5x+3), (4x)(5x+3), (5x+3)(4x), (5x+3)4x, 4x*(5x+3), (4x)*(5x+3),
(5x+3)*(4x), (5x+3)*4x, 4x~1(5x~1+3), (4x~1)(5xM14+3), (5xM1+3)(4xM 1),
(5xM143)4xN 1, 4xN1*¥(5xMN143), (4xN1)*(5xN143), (5xN143)*(4xM 1),
(5xMN143)*4xM 1

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

AT e

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 19c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485253 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2x(7x+9), (2x)(7x+9), (7x+9)(2x), (7x+9)2x, 2x*(7x+9), (2x)*(7x+9),
(7x+9)*(2x), (7x+9)*2x, 2x"N1(7x"N149), (2x M 1)(7xN149), (7x~N1+9)(2xM 1),
(7XN1+9)2xA 1, 2xAIX(7xN149), (XA 1D)X(7xN149), (7xM1+9)*(2xM 1),
(7x~N149)*2x"1

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: ' [7x -3,

)

Question 20a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90913 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(3xN245)(x+2), (x+2)(3x"N2+5), (x+2)*(3x"N2+5), (3xN2+5)*(x+2),
(XN142)(3xN245), (BxN2+5)(xN1+42), (xN14+2)*(3xN2+5), (BXxN2+5)*(x~1+2),
(1x4+2)(3x"2+5), (3xN2+5)(1x+2), (1x+2)*(3x"2+5), (3xN2+5)*(1x+2),
(IxXN1+2)(3xN245), (3xN2+45)(1xN142), (IxN142)*(3xN2+5),
(3xN245)*(1x"N1+2)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

3x3 + 6x2 + 5x + 10

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (3x2 + 5)(x + 2).




This version of Total HTML Converter is unregistered.

Question 20b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297815 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(3xN245)(x+3), (x+3)(3x"N2+5), (x+3)*(3x"N2+5), (3xN2+5)*(x+3),
(x™M143)(3x"245), (BxN2+5)(xM1+43), (xM143)*(3x"N2+5), (3xN2+5)*(x~1+3),
(1x+3)(3xN245), (BxN245)(1x+3), (1x+3)*(3xN245), (3xN2+5)*(1x+3),
(IxN1+3)(3xN245), (3xN2+45)(1xNM1+3), (IxN143)*(3xN2+5),
(3xN2+5)*(1x~N1+3)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

3x3 + 9x2 + 5x + 15

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (3x2 + 5)(x + 3).

Question 20c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297816 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(3xN244)(x+3), (x+3)(3xN2+4), (x+3)*(3x"2+4), (3xN2+4)*(x+3),

(XN L4+3)(3xN244), (BXN24+4) (XN 1+3), (XN 143)*¥(3xN2+4), (BxN2+4)*(xN143),
(1x+3)(3xN2+4), (3xN2+4)(1x+3), (1x+3)*(3x"2+4), (3xN2+4)*(1x+3),
(I1xM14+3)(3xN24+4), (3xN24+4)(1xNM1+3), (IxNM143)*(3xN2+4),
(3xN244)*(1x"N143)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

3x3 +9x2 + 4x + 12

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (3x2 + 4)(x +3).




This version of Total HTML Converter is unregistered.

Question 21a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485254 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

5xN2(2x+4), (5x1N2)(2x+4), (2x+4)(5xN2), (2x+4)5xN2, 5xN2*(2x+4),
(5xN2)*(2x+4), (2x+4)*(5x12), (2x+4)*5x"2, 5xN2(2xN1+4),
(5x12)(2xN1+4), (2xM14+4)(5xN2), (2xN144)5xN2, 5xA2*(2xN1+44),
(5xN2)*(2xN144), (2xN144)*(5xN2), (2xN144)*5xN2

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

N

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: =7 s + 2],

E

Question 21b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485255 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

4xN2(11x+9), (4x~2)(11x+9), (11x+9)(4x"2), (11x+9)4x1N2, 4xN2*(11x+9),
(AxN2)*(11x4+9), (11x+9)*(4xN2), (11x+9)*4x"2, 4xN2(11x"N1+49),
(4xN2)(11x~N149), (11xM149)(4x12), (11xM14+9)4xAN2, AxXA2*¥(11xNM1+9),
(4xN2)*(11x7M149), (11xN14+9)*(4xN2), (11xN149)*4xAN2

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

- 2

dd =35

[

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 21c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485256 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

3xN2(7x+1), (BxN2)(7x+1), (7x+1)(3xN2), (7x+1)3x"2, 3xN2*(7x+1),
(BxN2)*(7x+1), (7x+1)*(3xN2), (7x+1)*3x"2, 3xN2(7x~1+1),
(BXA2)(7xN1+1), (7xNM1+1)(BxN2), (7XN141)3XN2, 3XN2*(7xN1+41),
(BxA2)*¥(7xN141), (7xN141)*(3xN2), (7xN141)*3xN2

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

1T

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: -7 s + 1],

Question 22a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90914 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2XN247)(x+3), (X+3)(2x"N2+7), (X+3)*(2xN2+7), (2xN2+7)*(x+3),
(XN143)(2x7247), (2xN2+7)(xN143), (XN 143)*¥(2xN2+7), (2xN2+7)*(xN1+3),
(1x+3)(2x"2+7), (2x~2+7)(1x+3), (Ix+3)*(2x"2+7), (2x"2+7)*(1x+3),
(IXN143)(2xN247), (2xN247)(1xN143), (IXN143)*(2xN2+7),
(2XN2+7)*(1xN1+43)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

2x3 +6x%2 + 7x + 21

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 7)(x + 3).




This version of Total HTML Converter is unregistered.

Question 22b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297817 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2xN247)(x+4), (X+4)(2xN2+7), (X+4)*(2x"N2+7), (2xN2+7)*(x+4),
(XN14+4)(2xN2+7), (2x1N24+7)(XN1+4), (XN L+4)*¥(2xN2+7), (2x1N2+7)*(xN1+4),
(Ix+4)(2xN2+47), (2xN24+7)(1x+4), (1x+4)*(2xN2+7), (2xM2+7)*(1x+4),
(IXN1+4)(2xN247), (2xN2+47)(1xN1+4), (IxN1+4)*(2xN2+7),
(2xN2+7)*(1x~N1+4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

2x3 + 8x2 + 7x + 28

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 7)(x + 4).

Question 22c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297818 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2XN245)(x+4), (x+4)(2x"N2+5), (x+4)*(2x"2+5), (2xN2+5)*(x+4),

(XN 14+4)(2xN245), (2x7M245)(xN1+4), (XN 144)*¥(2xN2+5), (2xN2+5)*(x~1+4),
(1x+4)(2xN2+5), (2xN2+45)(1x+4), (1x+4)*(2x"N2+5), (2x~2+5)*(1x+4),
(1xN14+4)(2xN245), (2xA24+5)(1xNM1+4), (IxN1+4)*(2xN2+5),
(2XN245)*(1x"N1+4)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

2x3 + 8x2 + 5x + 20

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: (2x2 + 5)(x + 4).




This version of Total HTML Converter is unregistered.

Question 23a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485257 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

x(2x+14), (X)(2x+14), (2x+14)(x), (2x+14)x, x*(2x+14), (xX)*(2x+14),
(2x+14)*(x), (2x+14)*x, x 1(2xN1+14), (xM1)(2xN1+14), (2xM1+14)(xM 1),
(2XxM1+14)xM 1, xNML¥(2xM14+14), (xM1)*¥(2x7M1+14), (2xM1+14)*%(x~M 1),
(2xN14+14)*xN 1, 1x(2x+14), (1x)(2x+14), (2x+14)(1x), (2x+14)1x,
1x*(2x+14), (1x)*(2x+14), (2x+14)*(1x), (2x+14)*1x, 1x 1(2xN1+14),
(IxM1)(2xMN1414), (2xM14+14)(1xM 1), (2xM14+14)1xM 1, IxA1*(2xN1+14),
(IxNM1)*(2xM1+14), (2xM1+14)*(1xM 1), (2xM1+14)*1x~M 1

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

KRR I 5%

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: ==t 140,

Question 23b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485258 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

x(11x+4), (X)(11x+4), (11x+4)(x), (11x+4)x, x*(11x+4), (X)*(11x+4),
(11x+4)*(x), (11x+4)*x, x N 1(11xM14+4), (x M 1)(11xM14+4), (11xM1+4)(x™M 1),
(11xM14+4)xM 1, xM ¥ (11xAM1+4), (xM1D)*(11xM1+4), (11xM1+4)*(x~ 1),
(11xM1+4)*x~ 1, 1x(11x+4), (1x)(11x+4), (11x+4)(1x), (11x+4)1x,
1x*(11x+4), (1x)*(11x+4), (11x+4)*(1x), (11x+4)*1x, 1x 1(11x~1+4),
(Ix~M1)(11xM144), (11xM14+4)(1xM 1), (11xM14+4)1xA L, IxAI*(11xAN1+4),
(IxM)*(11xM144), (11xM14+4)*(1xM 1), (11x~M1+4)*1x~ 1

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:




This version of Total HTML Converter is unregistered.

Question 23c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485259 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

x(3x+14), (x)(3x+14), (3x+14)(x), (3x+14)x, x*(3x+14), (x)*(3x+14),
(3x+14)*(x), (3x+14)*x, x 1(3xN1+14), (x 1)(3xN1+14), (3x M 1+14)(x™M1),
(BxNM1+14)xM 1, xM*¥(3xN1+14), (xM1)*(3xN1+14), (BxNM1+14)*(x~ 1),
(3xM1+14)*x™ 1, 1x(3x+14), (1x)(3x+14), (3x+14)(1x), (3x+14)1x,
1x*(3x+14), (1x)*(3x+14), (3x+14)*(1x), (3x+14)*1x, 1x 1(3xN1+14),
(1xM1)(3xM1414), (B3xM14+14)(1xM 1), (BxN14+14)1xM 1, IxA1*¥(3xN1+14),
(IxNM1)*(3xNM1+14), (3xM1+14)*(1xM 1), (BxNM1+14)*1x~ 1

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.

i ornox

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: x|Z.: +

L

n

Question 24a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 90977 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2(x+2)(x+1), 2(x+1)(x+2), 2(1x+2)(1x+1), 2(1x+1)(1x+2), 2*(x+2)*(x+1),
2¥(X+1)*¥(x+2), 2*¥(1x+2)*(1x+1), 2*¥(Ix+1)*(1x+2), 2(x 1+2)(x~1+1),
2(xNM14+1)(xNM+2), 2(IxNM14+2)(IxAN1+1), 2(IxNM1+1)(1xN1+42),
2¥(XN14+2)*(xN14+1), 2¥ (XN 1+1)*¥ (XA 1+2), 2*¥(AXN1+2)*¥(1x N 1+1),
2¥(IXA1+1)*(IxAN1+2), (2)(X+2)(x+1), (2)(x+1)(x+2), (2)(1x+2)(1x+1),
(2)(Ix+1)(1x+2), (2)*(x+2)*(x+1), (2)*¥(x+1)*(x+2), (2)*(1x+2)*(1x+1),
(2)*(1x+1)*(1x+2), (2Q)(XM1+2)(xM1+1), (2)(xM1+1)(xN1+42),
(2)(IxM1+2)(1xM1+1), (2)(IxNM1+1)(1xAM1L+2), (2)¥ (XM L+2)*(xNM1+1),
()*(XNML+H1)*(xM14+2), (2)¥(IXAL+H2)*¥(1xAL+1), (2)*(IxM1+1)*(1xN1+2),
(x4+2)2(x+1), (x+1)2(x+2), (1x+2)2(1x+1), (1x+1)2(1x+2), (x+2)*2*(x+1),
(X+1)*2*%(x+2), (1x+2)*2*(1x+1), (1x+1)*2*(1x+2), (X 1+2)2(x 1+1),
(XM +1)2(xM14+2), (IxM1+2)2(1xM+1), (IxMN1+1)2(1xNM1+2),
(XALH2)*¥2*¥ (XA 141), (XA LHL)*2¥ (XN 14+2), (IxNAN14+2)*2*(1x~N1+1),
(IXAM1+1)*¥2*%(A1xM1+2), (x+2)(2)(x+1), (x+1)(2)(x+2), (1x+2)(2)(1x+1),
(Ix+1)(2)(1x+2), (x+2)*(2)*(x+1), (x+1)*(2)*(x+2), (1x+2)*(2)*(1x+1),
(Ix+1)*(2)*(1x+2), (X M1+2)(2)(xM1+1), (xM1+1)(2)(xN1+2),
(IxM1+2)(2)(1xM1+1), (IxM+1D)(2)(IXAL+2), (XA L+2)*(2)*(xNM1+1),
(XAML+H1)*(2)X(XNM1+2), (IXAL+2)*¥(2)*¥(1xAM1+1), (IXNM1+1)*(2)*(1xN1+2),
(x+2)(x+1)2, (x+1)(x+2)2, (1x+2)(1x+1)2, (1x+1)(1x+2)2, (x+2)*(x+1)*2,
(X+1)*(x+2)*2, (Ix+2)*(1x+1)*2, (Ix+1)*(1x+2)*2, (x M1+2)(x N 1+1)2,
(XM+1)(xM142)2, (IxM1+2)(IxM+1)2, (IxM1+1)(1xNM1+2)2,
(XALH2)¥ (XA L+1)*2, (XAML+H1)* (XA 1+2)*2, (IxA1+2) ¥ (Ix~M1+1)*2,
(IXMH1D)*(AxAL+2)*2, (x+2)(x+1)(2), (x+1)(x+2)(2), (1x+2)(1x+1)(2),
(Ix+1)(1x+2)(2), (X+2)*(x+1)*(2), (Xx+1)*(x+2)*(2), (1x+2)*(1x+1)*(2),
(Ix+1)*(1x+2)*(2), (X M1+2)(x M1 +1)(2), (X M1+1)(xM1+2)(2),
(IxXM1+2)(IxM14+1)(2), (IXM+H1D)(AIxAN1+2)(2), (XA L+H2)*(xNM1+1)*(2),
(XAL+H1)*(XAM1+2)*(2), (IXA142)*¥(AXA1+1)*(2), (IXAML+1)*(IxNM1+2)*(2)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 6x + 4

Attempt| Incorrect Feedback

1st




This version

of Total HTML Converter is unregistered.

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2(x + 2)(x + 1).

Question 24b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297825 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2(x+3)(x+1), 2(x+1)(x+3), 2(1x+3)(1x+1), 2(Ix+1)(1x+3), 2*(x+3)*(x+1),
2¥(X+1)*¥(x+3), 2*¥(1x+3)*(1x+1), 2*(1x+1)*(1x+3), 2(x 1+3)(x 1+1),
2(xNM1+1)(xNM1+3), 2(IxM14+3)(1xA1+1), 2(1xAM1+1)(1xM1+3),
2¥(XN143)* (XN 14+1), 2¥ (XN 1+1)*¥ (XA L+3), 2*¥(IxNL+3)*¥(1x N 1+1),
2¥(IxNM+1)*(1xN143), (2)(x+3)(x+1), (2)(x+1)(x+3), (2)(1x+3)(1x+1),
(2)(Ix+1)(1x+3), (2)*(x+3)*(x+1), (2)*(x+1)*(x+3), (2)*(1x+3)*(1x+1),
(2)*¥(1x+1)*(1x+3), (2Q)(XM1+3)(xM1+1), (2)(xNM1+1)(xN1+3),
(2)(IxM+3)(1xM1+1), (2)(IxM+1)(AxNM1+3), (2)*¥(XNM1+3)*(xNM1+1),
(2)*(XNML+1)¥ (XM 1+3), (2Q)¥(AIXAMLH3)*¥(IxAML+1), (2)*(IxNM1+1)*(1xNM143),
(x+3)2(x+1), (x+1)2(x+3), (1x+3)2(1x+1), (1x+1)2(1x+3), (x+3)*2*(x+1),
(X+1)*2*%(x+3), (1x+3)*2*(1x+1), (1x+1)*2*(1x+3), (x 1+3)2(x N1+1),
(xXM1+1)2(xM143), (IxNM+3)2(1xNM+1), (IxM1+1)2(1xM1+3),
(XAL+3)*¥2*¥ (XN 1+1), (XAM1+1)*2%(xNM1+3), (IxA1+3)*¥2*%(1x~M1+1),
(IXNM14+1)*¥2*¥(1xN1+3), (x+3)(2)(x+1), (x+1)(2)(x+3), (1x+3)(2)(1x+1),
(Ix+1)(2)(1x+3), (x+3)*(2)*(x+1), (x+1)*(2)*(x+3), (1x+3)*(2)*(1x+1),
(Ix+1)*(2)*(1x+3), (X M1+3)(2)(xM1+1), (xM1+1)(2)(xN1+3),
(IxXM+3)(2)(IxAN1+1), (IxM1+1D)(2)(IxAL+3), (XA L+H3)*(2)*(x~M1+1),
(XNM1+H1D)*(2)¥ (XM 1+3), (IxAM14+H3)*(2)*(IxAML+1), (XM L+H1)*(2)*(1xNM14+3),
(X+3)(x+1)2, (x+1)(x+3)2, (1x+3)(1x+1)2, (1x+1)(1x+3)2, (x+3)*(x+1)*2,
(X+1)*(x+3)*2, (1x+3)*(1x+1)*2, (Ix+1)*(1x+3)*2, (x 1+3)(x 1+1)2,
(XM +H1)(xM143)2, (IXAML43)(IxNM1+1)2, (IxAM1+1)(1xNM1+3)2,
(XN143)*¥(xNM1+H1)*2, (XML +H1)*¥ (XN 14+3)*2, (IxML43)*(1x~M1+1)*2,
(IXML+H1)*(AxAL+3)*2, (x+3)(x+1)(2), (x+1)(x+3)(2), (1x+3)(1x+1)(2),
(Ix+1)(1x+3)(2), (x+3)*(x+1)*(2), (Xx+1)*(x+3)*(2), (1x+3)*(1x+1)*(2),
(Ix+1)*(1x+3)*(2), (X M1+3)(xM1+1)(2), (XM 1+1)(xM1+3)(2),
(IxM14+3)(1xNM14+1)(2), (IXNML+1)(IxN143)(2), (XA LH3)*¥ (XN 1+1)*(2),

(XA L+H1D)*(XNM14+3)*(2), (IxA143)*¥(IxAL+1)*(2), (IxM+1)*(IxNM14+3)*(2)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 8x + 6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is: 2(x + 3)(x + 1).




This version of Total HTML Converter is unregistered.

Question 24c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 297826 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

2(x+4)(x+1), 2(x+1)(x+4), 2(1x+4)(1x+1), 2(1x+1)(1x+4), 2*(x+4)*(x+1),
2¥(x+1)*(x+4), 2*¥(1x+4)*(1x+1), 2*¥(Ix+1)*(1x+4), 2(x 1+4)(x 1 +1),
2(xM14+1)(xNM1+4), 2(IxM1+4)(AxA1+1), 2(IxM1+1)(1xN1+44),
2¥(XN1+4)*(xN1+1), 2¥ (XN 1+1)*¥ (XN 1+4), 2*¥(IxN1+4)*¥(1x N 1+1),
2¥(IxN1+1)*(1xN1+4), (2)(x+4)(x+1), (2)(x+1)(x+4), (2)(1x+4)(1x+1),
(2)(Ix+1)(1x+4), (2)*(x+4)*(x+1), (2)*¥(x+1)*(x+4), (2)*(1x+4)*(1x+1),
(2)*(1x+1)*(1x+4), (2Q)(XM1+4)(x M1+1), (2)(xM1+1)(xN1+4),
(2)(1xM1+4)(1xM1+1), (2)(IxNM1+1)(1xA1+4), (2)F (XN 1+4)*(xNM1+1),
(Q)*(XNML+H1)*(xNM14+4), (2)*¥(IXNL+4)*¥(IxAL+1), (2)*(IxNM1+1)*(1xN1+44),
(X+4)2(x+1), (x+1)2(x+4), (1x+4)2(1x+1), (1x+1)2(1x+4), (x+4)*2*(x+1),
(X+1)*2*(x+4), (1x+4)*2*(1x+1), (1x+1)*2*(1x+4), (X 1+4)2(x 1+1),
(XM +1)2(xM14+4), (IxM1+4)2(1xNM1+1), (IxM1+1)2(1xN1+4),

(XA L+4)*¥2*%(xAN1+1), (XA1+1)*2%(xAM1+4), (IxN1+4)*2*%(1xNM1+1),
(IXNM1+1)*¥2*%(1xN1+4), (x+4)(2)(x+1), (x+1)(2)(x+4), (1x+4)(2)(1x+1),
(Ix+1)(2)(1x+4), (x+4)*(2)*(x+1), (x+1)*(2)*(x+4), (1x+4)*(2)*(1x+1),
(Ix+1)*(2)*(1x+4), X M1+4)(2)(xM1+1), (xM1+1)(2)(xN1+4),
(IxM1+4)(2)(1xN1+1), (IxM+1)(2)(1xA1+4), (XM L+4)*(2)*(xNM1+1),
(XAL+H1)*(2)* (XM 14+4), (IXANL+4)*¥(2)*¥(1xAM1+1), (IxNM1+1)*¥(2)*(1xN1+4),
(x+4)(x+1)2, (x+1)(x+4)2, (1x+4)(1x+1)2, (1x+1)(1x+4)2, (x+4)*(x+1)*2,
(X+1)*(x+4)*2, (1x+4)*(1x+1)*2, (1x+1)*(1x+4)*2, (x 1+4)(x 1+1)2,
(XM +1)(xM14+4)2, (IxM1+4)(1xNM1+1)2, (IxM1+1)(1xMN1+4)2,
(XANL+HA) ¥ (XA LH1)*2, (XM L+ D)X (XNM14+4)*2, (IxAM1+H4)*(IxNM1+1)*2,
(IXAML+1)*(AXAN1+4)*2, (x+4)(x+1)(2), (x+1)(x+4)(2), (1x+4)(1x+1)(2),
(Ix+1)(1x+4)(2), (x+4)*(x+1)*(2), (x+1)*(x+4)*(2), (1x+4)*(1x+1)*(2),
(Ix+1)*(1x+4)*(2), (X M1+4)(x M1 +1)(2), (X M1+1)(xNM1+4)(2),
(IXM+4)(IxNM14+1)(2), (IxNM1+1)(IxNM1+4)(2), (XN L+H4)Y*(xN1+1)*(2),
(XAML+H1)*(XNM1+4)*%(2), (IxAN14+4)*(AxA1+1)*(2), (IXM+1)*(1xNM1+4)*(2)

Factor the polynomial expression. Write each factor as a polynomial in
descending order.

2x2 + 10x + 8
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The correct answer is: 2(x + 4)(x + 1).

Question 25a of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485260 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(3x"2+1)(3x+5), (3x+5)(3xN2+1), (Bx+5)*(3xN2+1), (3xN2+1)*(3x+5),
(3xNM1+5)(3xN2+1), (BxN2+1)(3xNM1+5), (3xN1+5)*(3xN2+1),
(3xN2+1)*(3xN1+5), (3x+5)(3xN~2+1), (3xN2+1)(3x+5), (3x+5)*(3xN2+1),

(3xA2+1)*(3x+5), (3x~1+5)(3x~2+1), (3x*2+1)(3x A 1+5),
(3XA1+5)*%(3xA2+1), (3xA2+1)*(3x~1+5)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.
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The correct answer: 3% +"| D+ 4],

Question 25b of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485261 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
3

false

(2x1N241)(2x+5), (2x+5)(2x"N2+41), (2x+5)*(2x"N2+1), (2xN2+1)*(2x+5),
(2xM145)(2x"N2+1), (2xM2+1)(2xN1+5), (2xM1+5)*(2x”N2+1),
(2XN2+1)*(2xN145), (2x+5)(2x"N2+41), (2xM24+1)(2x+5), (2x+5)*(2x"M2+1),
(2xN2+1)*(2x+5), (2xM1+5)(2xN2+1), (2x7MN2+1)(2xN1+45),
(2xN145)*(2xN2+1), (2xN24+1)*(2x~1+45)

Factor the polynomial expression. Write each factor as a polynomial in
descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.
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The correct answer is: |[<= e

'__I\.\.I _1l = _l:l1

Question 25c of 25 ( 3 Finding a Common Factor in Each Term of a Trinomial 485262 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank

3

false

(4x"N2+1)(4x+5), (4x+5)(4x"N2+1), (4x+5)*(4xN2+1), (4xN2+1)*(4x+5),
(AxN14+5)(4xN24+1), (4xN2+41)(4xN1+5), (4xN14+5)*(4xN2+1),
(4xN2+1)*(4xN145), (4x+5)(4xN2+1), (4xN2+1)(4x+5), (4x+5)*(4xN2+1),
(4xN2+1)*(4x+5), (4xNM1+5)(4xN2+1), (4xN2+1)(4xN1+5),
(AXN1+5)*(4xN2+1), (AxN2+1)*(4xN1+5)

Factor the polynomial expression. Write each factor as a polynomial in

descending order. Enter exponents using the caret ( ~ ). For example, you
would enter x2 as x"2.
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The correct answer is:




